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S IREENC = L0k 4 14.73 6.94 1.26 3.0 S5larzs<me 4 14.73 9.18 2.30 4.8 503 % 3 11.79 6.51 151 5.8
6 |- 5 5 3 11.79 8.71 0.66 2.2 S EEE 4 14.73 8.00 0.84 4.8 6 | 75k 2 7.86 7.10 3.10 38
7|3 % 6 11.41 6.41 121 4.4 [ EREIC =398 4 14.73 6.94 1.26 4.8 HEEE 2 7.86 5.10 1.91 38
) ERCE 5 9.51 6.04 1.59 3.7 8 & 3 11.05 6.94 1.16 3.6 8| vk 2 7.86 3.84 3.12 3.8
9| i 2 7.86 5.10 191 15 9| % 3 11.05 6.88 1.03 3.6 ) L 1 3.93 9.50 0.71 1.9
10] & s #% 4 7.60 3.80 0.79 3.0 10| g fod @ ki R 2 7.36 4.56 1.69 2.4 |10)% % 1 3.93 2.95 1.61 1.9
R E. T 22 41.83 26.36 0.69 16.3 Ao 2bd X Rt F) 6 22.09 12.69*-  0.45* 7.2 H o 2t X g 7] 8 31.45 13.47 0.59 154
11)5% 5 3 5.70 3.56 0.61 2.2 |11z il 1 3.68 2.47 3.78 12 J1l)te i & H= % 1 3.93 2.95 0.71 1.9
12| a4 4ot & 23 B 3 5.70 2.94 1.23 2.2 12| % % 1 3.93 1.43 2.12 1.9
13| 75 2 3.80 321 171 15 13| frdl & 225§ B 1 3.93 0.90 0.80 1.9
1405 5 1 1.90 4.39 0.36 0.7
15] o v K 1 1.90 1.37 311 0.7
Mo LFj i RRC ReLE ¢ A v 352,597+ § 27,1564 A 225,440¢% -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
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i (ICD-10%~ #f) A 5= = g % | (ICD-10%~ #f) A 7= e ¥ Fe Lk % | (ICD-10% #f) A i v v Fv = b %

“h e F 33 192.75 124.39 093 .00.0 74 e~ F 24 270.82 180.79 1.03 .00.0 14 R ) 9 108.96 75.09 0.72  .00.0

By 33 192.75 124.39 128 .00.0 L X S v F) 24 270.82 180.79 134 000 - R F) 9 108.96 75.09 2,00 .00.0
1P#fesp 23 % 9 52.57 37.40 149 273 42§58 % 6 67.70 46.05 1.07 250 1 |sofesmp w23 3 36.32 34.40 173 333
2|5 % ~AFE R 6 35.04 21.13 075 182 2 P s 6 67.70 44,57 137 250 2 Pa s 3 36.32 17.54 5.34* 333
3% LR 4 23.36 14.46 098 121 3]sy 3 33.85 23.02 218 125 3|3 ~ ok 2 2421 14.67 1.00 222
e 4 23.36 13.60 316 121 | 4]v i 3 33.85 22.69 8.67* 125 |4 |%A 1 12.11 8.48 527 111
514 & 3 17.52 11.46 4.18 91 |5)#% i frRk 2 22.57 14.61 0.96 8.3
6145 % 3 17.52 10.81 2.09 91 |6 um 2 22.57 14.32 0.67 8.3
T\ ek 2 11.68 7.76 0.65 6.1 |7 e 1 11.28 8.36 141 4.2
8 "y 1 5.84 3.88 232 30 |8|xrAasHTn 1 11.28 7.16 2.05 4.2
9im 2 &<l B 1 5.84 3.88 121 3.0

B2t X R 0 0.00 0.00 0.00 0.0 B b & 7 0 0.00 0.00 0.00 0.0 B e 7 5] 0 0.00 0.00 0.00 0.0

oLyt EA e RaE Y A v R1T7,1214 0 9 448,8624 -~ 48,260+ -
2. 452 v 5+ = 5 ( Standardized rate) % 1 2000F W.H.O. & % A v Zd 4 2 A o Tk | L R0 5= FEFX
3. 482 it 5 = 1t ( Standard mortalityratio, SMR) o fhiitsv= l=Fmn = e / W= B XA R B R
4. FTH KR LA FLE A P AR B R 4 v oSt
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= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE

i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

54 e 7 71 19641 14220 103  .00.0 4 g 7 42 22673 18031 096 .00.0 st Ao ] 20 16455 10364 116  .00.0
hern | e s 1saz 122 813 | |cemerm | 3 20514 16490 112 905 | |-<mesm | 20 16455 10364  158* 000
s t5s4mm | 23 6363 4539 149 324 |1|i# - tisfrm | 14 7558 6000 135 333 |1|i# - tiuferm 9 5107 3065 182 310
2 [sgeren 2 12 3320 2403 102 169 | 2|wgespmig 9 4850 3735 108 214 |2|ew . zmieonrsm 6 3404 2077 151 207
3|x s s 4 2270 1920 140 56 |3|- 4 2159 1621 069 95 |3|+prim 4 2270 1920 140 138
7 T 8 2213 1618 102 113 |4|azm 3 1620 1354 113 71 | a|segesen i 3 17.02 1014 087 103
5| v 5 1383 1040 081 70 |5|es.imiars 2 1080 1010 052 48 |s|eam 2 1135 457  10.38* 6.9
6|awn 5 1383 919 175 70 |6l|i# 2 1080 996 138 48 |6|- s 1 5.67 445 290 34
7|5 ¢ 1 5.67 445 253 14 |7|maferesn 1 5.40 513 384 24 |7|s e 1 5.67 445 253 34
8;;ﬁ‘%t*mﬁ; 1 5.67 229 169 14 |8l 1 5.40 430 156 24 |8|wfqene g 1 5.67 445 176 34
ol % 2 5.53 467 083 28 |9len 1 5.40 416 379 24 | 9|wuww 1 5.67 268 090 34
10| s fotr 2 30 1 2.77 2.73 207 14 10|z s #mgen e i kw| 1 5.40 416 355 24 10;;ﬁ‘%&*W*; 1 5.67 2.29 169 34
i herm | 9 2es0 1678 oasr 127 | |escimmem | 4 2159 154t~ 041 95 | |#es-<gesrm | 0 o000 000 000 00
1) 1 2.77 215 377 14 |1)s i 1 5.40 402 154 24
|z amere iin| 1 2.77 215 214 14 |12|aeizamen 1 5.40 358 107 24
138 f 12t 2 1 2.77 215 086 14
14]5 5 5 1 2.77 172 071 14
15|zt 2 & = & 1 2.77 1.53 0.62 14

oLt L EA ESRE Y A ¢ g 3236,148% 9 4218,524% & 4E17,6244 -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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o — 7= A-§  REC BE 50 |% W w 7= AS§  WEC RE 50 % * R < 5§ WEC RE -
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE
i (ICD-10%~ #f) A 5= = g % | (ICD-10%4 #7) [ 7= e ¥ Fe Lk % | (ICD-10% #7) A e ¥ e Fv = b %
54 e 7 110 22050 14238 107  .00.0 4 g 7 80 32000 21614 121  .00.0 “id g 5] 30 130.94 7715 081  .00.0
e | ss e 130 112 800 | |emerm | 67 26800 18085 124 838 | |-<merm | 27 1786 6162 0% 900
5% tf5udmm | 27 5635 3507 116 245 |1|i# - t5sfrm | 22 88.00 6059 138 275 |1]|ew . zgears 6 2619 1051 099 200
2 [sgeren 2 14 2922 1992 080 127 |2|sgespzig 11 4400 3008 089 138 |2|i# -t #erm 5 2182 1154 069 167
3|yt gqomn | 14 2022 1500 117 127 | 3|- 10 4000 2679 119 125 |3|epsss 4 1746 1286 104 133
e 10 2087 1282 115 91 |4|ey i gqenrmn 8 3200 2009 135 100 | 4[|wgesep m s 3 13.09 865 057 100
Y BT 4 1746 1286 104 36 |5|im 5 2000 1340 222 63 |s|is 3 13.09 788 207 100
6|1 8 1670 1016 217 73 |6|auzm 4 1600 1092 104 50 |6|twss<men 2 8.73 48 198 67
1 EREE STV 3 1200 800 128 27 |7[espcEmipa 3 1200 800 128 38 |7|eum 1 4.36 322 117 33
8lawm 4 8.35 550 098 36 |8|sim 2 8.00 a99 202 25 || fF"T EAmEEL 4.36 322 115 33
) EXp - 3 6.26 387 124 27 |o|wfigenengn 1 4.00 200 111 13 |ofv s 1 4.36 320 545 33
10] 4 & 1 4.36 322 117 09 |10|5 = 1 400 299 110 13 |10fsee s 1 4.36 165 151 33
eiaswerm | 22 ass2 2000 092 200 | |tesceomesm | 13 5200 3528 108 163 | |eac-mesm | 3 1308 es3t 031 100
11 ;;f" FEARETL 436 3.22 115 09 |1|rerzamen 1 4.00 200 072 13 |uews 1 436 133* 060 33
12|54 5 2 417 222 096 18 |12|esinon 1 4.00 279 456 13
13|53 5 2 417 180 130 18 [w3|zsamreneanmn| 1 4.00 264 227 13
14] 2 ws 1 2.0 150 391 09 |14|smm 1 4.00 252 114 13
15| 4 i 1 2.09 145 094 09 |15|es 1 4.00 213 247 13

oL BARE AR E Y A v fie 3R47,9124 0 §4425,0004 4 4422,912+% -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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> (ICD-104 #7) S T Fe= & oL i (ICD-104 #7) Fe b % | (ICD-104 #7) S T Fe L %

1 R F 66 167.70 109.62* 0.84 HEF R 7 F 0.88 .00.0 4 R 7 %] 22 115.69 0.78 .00.0

LA e F) 53 134.67 88.53 1.00 L R 1.09 84.1 L X g F] 21 110.43 1.03 95.5
i FE T s 13 33.03 2158 0.74 FE AR 084 227 Ry 5 26.29 397 227
2 |mgesep s 13 33.03 20.47 0.98 e 105 227 FE A F R 3 15.78 054 136
3les cssenra 8 20.33 15.22 0.89 B D e 113 114 N T 3 15.78 066 136
4 1% % 6 15.25 8.84 217 S 0.98 6.8 SFfedE P R 3 15.78 0.77 13.6
[} EXEE TS 2 10.52 5.70 0.65 i35 3.12 4.5 L R 2 10.52 0.65 9.1
6]aum 3 7.62 6.28 0.93 o f B R 295 45 T 1 5.26 278 45
AL 3 7.62 5.06 2.64 HE 1.20 4.5 535 1 5.26 2.01 45
8| i 1 5.26 1.85 1.44 YR 3.35 2.3 “,1—%8:?-}% 1 5.26 7.02 45
9 %% 2 5.08 3.53 2.04 (- 1.83 2.3 (-3 1 5.26 2.30 4.5
10)2 g qe 2t @ sz 2 5.08 331 153 e d h T 0.95 2.3 ‘P 5 1 5.26 144 45

Hig 2bL X g & F) 13 33.03 21.08*- 0.52* Hog 2Ll X g 5 F) 0.43* 159 H s 2t X g 5t R 1 5.26 0.13* 45
11) 5 % 2 5.08 3.07 0.72 5 R 0.66 2.3
12]5 7] ‘rjl(%éi“j‘i)f& 1 492 3.26 0.59 a7 "ﬁl(i&’éﬁ:‘”j‘\)'}% 0.59 2.3
13| % 1 2.54 2.52 3.31
12m 4 2o m 1 2.54 1.75 0.55
15| 7 %% 1 2.54 1.75 1.52
Mosmc LLFs i RE A RRE Y A v 3439,356+4 ¥ 420,339+ 4 1419,016¢+ -

2. {53 v 5 = & ( Standardized rate) % 22000 W.H.O, & % 4 v &4 5 A8 o T L 780 A= F o Tk ARREL - FREE R REEL % (0=0.05)

3. &2 - 5+ = 1t ( Standard mortality ratio, SMR) -
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

T R > 81 176.27 121.67 0.88 .00.0 1 Rk 7 52 219.79 161.37 0.87  .00.0 4 R 7 %] 29 130.09 84.72 0.88  .00.0

LA e F) 66 143.63 99.62 0.96 81.5 Ry 45 190.20 141.68 1.13 86.5 L R T 25 112.15 75.26 1.00 86.2
1|srfosmp o3 16 34.82 23.59 1.01 19.8 IR NN R 13 54.95 42.20 0.91 25.0 1% s 23 fonr g 8 35.89 21.42 1.57 27.6
205 % ~ L5 E o R 14 30.47 21.94 0.68 17.3 2 PferFp EE 12 50.72 36.55 1.06 231 2|+ s 5 22.43 17.26 1.28 17.2
Kl BEEE RS 5 22.43 17.26 1.28 6.2 3|k 8 33.81 25.26 1.02 154 3 s L E 4 17.94 10.29 0.89 13.8
41 g 8 17.41 12.78 0.96 9.9 4 GEEENC =2 98 3 12.68 8.77 1.49 5.8 4 sk 2 8.97 6.82 1.39 6.9
5|4% - 25 formn 8 17.41 11.09 0.77 9.9 S5|edird © ki B 2 8.45 6.65 2.47 3.8 5 53w 1 4.49 3.73 1.85 34
6 |5 75 (e 5 3 12.68 8.77 1.49 3.7 6|2 ¢ Hmicd @ & KB 2 8.45 6.02 511 3.8 6 | & % 1 4.49 3.73 121 34
T g fodl @ 2 R 3 6.53 4,99 1.94 3.7 Tlxet &k 5 2 8.45 5.62 157 3.8 T edqod w e 1 4.49 3.33 1.36 34
8 |5 %% 3 6.53 4.86 0.93 3.7 81d & m 1 4.23 421 1.12 19 8|+ v R 1 4.49 2.94 1.84 34
It & ke & 3 6.53 4.28 1.39 3.7 O | % fobd & 5 & B 1 4.23 3.32 13.91 1.9 Sl EACE W 1 4.49 2.90 1.12 34
10]2. ¢ 2 mfcd v L KR 3 6.53 3.62 481 3.7 1005 = 1 4.23 3.09 131 19 1005 # ~ 2 5 ¥ for 1 4.49 2.85%-  0.15* 34

Hs 2t & R F) 15 32.64 22.05*- 0.63 18.5 How b X g v 7] 7 29.59 19.70%- 0.35* 135 Ho bt X gt F) 4 17.94 9.46*-  0.50 13.8
11) % 5 % 1 4.49 3.73 1.21 12 115 %% 1 4.23 3.09 0.55 19 11) 5 =& 1 4.49 2.60 6.36 34
12+ 7w % 1 4.49 2.94 1.84 1.2 12|/ & fedi o 50% 1 4.23 2.78 2.88 1.9 122 ¢ 2 et & 4 K B 1 4.49 1.76 4.27 3.4
13]5 2 % 2 4.35 3.21 1.53 25 |13)sE® 1 4.23 2.78%-  0.28 19
145 & 1 2.18 2.04 0.53 1.2 1415 % 1 4.23 251 0.50 1.9
1514 4o b & 3 ¥ 1 2.18 1.75 14.35 12

WoqLc 1§ BATCHNE S A v Bk 3245,9524 9 4223,659% - 1222, 2924
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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5 * & 7= so§  BEC BE 7o |7 * 7= wt§  mEC BE 7o % - 7= Ai§  BEC BE o
» 2 RO L B A » = R OF) U e oA » 2 R OH AT oA
i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %
54 e 7 69 28505 15633 109  .00.0 4 g 7 52 40759 23369 124  .00.0 st Ao ] 17 14848 8011 076 .00.0
N 58 23961 13225 125 841 L g 50 39191  22657*+  148* 96.2 T g 17 14848 80.11 127 .00.0
Wis - tisfms | 2 86.76 4515 144 304 [1lis - tssgemn | 16 12541 7098 153 308 |1l|i# g uderm 5 43.67 1981 114 294
2 [seqermp 5 5 12 49.57 2602 111 174 | 2|sqespom i 12 94.06 5148 155 231 |2|uw . zmiears 3 26.20 1101 080 176
3| -2 pqenr g 9 37.18 1778 118 130 |3|e3 . imqars 6 47.03 2525 153 115 |3|«psim 2 17.47 1240 096 118
4l s 2 17.47 1240 096 29 |4]- s 4 31.35 2474 081 77 |4|viwm 1 8.73 839 200 59
5|0 sem 4 16.52 1334 081 58 |5|auwm 4 31.35 2162 173 77 |s5|srwm 1 8.73 657 350 59
6|4 4 16.52 1122 169 58 |6]|s=m 2 15.68 918 377 38 |6lum 1 8.73 58 348 59
7 3 12.39 3.73 127 43 | 7|www 2 15.68 7.64 155 38 |7 fg;f” ARy 8.73 5.83 189 59
8| i m 1 8.73 839 200 14 |slis 2 15.68 637 135 38 |sliws 1 8.73 470 479 59
9|+ s um 1 8.73 657 359 14 |olieszamen 1 7.84 575 113 19 |olsms 1 8.73 363 230 59
10 ; ;‘}V Gl I 8.73 5.83 189 14 |10|5wss 1 7.84 3.56 372 19 |10]s & 1 8.73 1.94 111 59
Hoozbt A ) 11 45.44 24.08 0.64 15.9 H o bt X R 5t F] 2 15.68 7.12*-  0.25* 3.8 Hoig 2t X R 5 F) 0 0.00 0.00 0.00 0.0
11 5 = 2 8.26 493 322 29 |ui|e s 1 7.84 356 061 19
12| 2 8.26 375 087 29
ik ERETE ST 98 1 7.84 356 061 14
14|50 2 2 e 1 413 324 066 14
15 1 413 267 149 14

ok L3 BRI E Y A v odic 3524,2064 71212, 7584 k11,4494 o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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[ (ICD-104 #7) A i F= v & [ (ICD-104 #7) e & s & Fu= L % | (ICD-104 #f) A = 7=t %

4 F Rk 7] 71 194.77 131.73 204 g v 7] 264.35 193.56 1.03  .00.0 w4 Rk ) 21 119.73 0.76  .00.0

B 53 14539 99.69 LA ) 227.34 167.95 110 860 L4 e F 18 102.62 099 857
1 |pqerep s 13 35.66 24.47 I EF T 4758 34.16*+ 3.06* 18.0 oS R 5 2851 131 238
2 s % 9 24.69 16.85 2 s qesrp oz g 42.30 31.95 0.87 16.0 BB R 3 17.10 068 143
<) PN POty 9 24.69 15.86*- 3li# 2 F H R 42.30 29.59 069 160 iy 2 11.40 2.98 9.5
44 7R GO e 4 21.15 14.51 4 |- zm 26.44 18.94 077 100 3k 2 11.40 411 9.5
5|en 2 gior g 6 16.46 12.42 5 |5 7155 (4 ) 21.15 14.51 2.46 8.0 FE A F Ao 1 5.70 0.18 438
6 |- m 5 13.72 9.99 6 |4 =1 15.86 13.17 425 6.0 LRzt 1 5.70 2.35 438
HEET 2 11.40 6.38 [ EL R T oL 15.86 13.16 0.70 6.0 4 Ay 1 5.70 1786 48

FRFEENEAP T

8 |4 1% 3 8.23 7.02 8 |rum 5.29 4.79 2.01 2.0 2% 1 5.70 1.54 438
9|5 v us 1 5.70 3.87 ) EXCR 5.29 413 0.97 2.0 R 1 5.70 0.81 438
10 ; ;‘}V FEATEEL 5.70 3.64 10|26 4o & g 5.29 355 153 20 . 1 5.70 096 48

B2 & g 7 ] 18 49.38 32.04 H L & R ) 37.01 25.61 073 140 R ] 3 17.10 0.32* 143
11535 2 5.49 3.31 12 ¢ 2micr e L &R 5.29 3.47 3.13 20
12]5 % 2 5.49 2.89 12]5 % 5.29 3.47 0.61 20
13)6% 1 2.74 2.47
18] 2 &2 <= 1 2.74 2.03
15|72 § fo 8 23 1 2.74 1.86
Ho LA RRAHRE Y 4 3736,4564 4 L 1217,540 4 -

2. $52 it 5= Z ( Standardized rate) % 122000 2 WH.O. & % A v Edg4 2 A% o Tk L 78 »= & [RERE BB 5 Tkt | A FREL = KREER Y SRR % (0=0.05)
3. &2 - 5+ = 1t ( Standard mortality ratio, SMR) - el = e / WY e XA T B F 3 HF 2 F(0=0.05) -
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i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

1 R F 80 240.10 136.10 0.95 .00.0 HEF R 7 F 49 280.21 171.49 0.90 .00.0 Eh R 7 F 31 195.79 102.51 1.03 .00.0
isern 2 zees wam im w0 [ |oimesn | s 253 1017 108 918 | |-<serm | 30 leo4s 10068 135 968
1 Pprfessp 24 20 60.02 33.44 140 250 Ll -2 58" % 11 62.90 35.77 0.81 224 1 Pprfessp 24 10 63.16 33.14 2.24* 323
205 8~ A5 E R 15 45.02 24.29 0.78 18.8 2 PferFp EE 10 57.19 34.86 0.99 20.4 2|5 s i ir R 5 31.58 17.15 0.99 16.1
3|5 ~ 2B form B 10 30.01 15.21 0.98 125 3| 8 45.75 31.84 1.23 16.3 IR SRR Rl 4 25.26 13.29 0.68 12.9
41w 8 24.01 17.20 1.22 10.0 4%~ EF ol R 5 28.59 15.96 0.98 10.2 4 s 3 18.95 11.15 2.16 9.7
5 & 7 21.01 12.41 2.29 8.8 5 e 4 22.87 13.76 2.38 8.2 513 &% 3 18.95 7.92 2.44 9.7
615 i 4 12.00 8.16 2.33 5.0 Cl EES 2 11.44 8.62 231 4.1 615 i 2 12.63 7.66 2.36 6.5
R 3 9.00 4.19 0.96 3.8 HEER 2 11.44 6.97 0.66 4.1 [l RE-E AT 1 6.32 6.55 0.36 3.2
8|+ st 5 1 6.32 6.55 0.36 13 8 |7a 1 5.72 5.29 1.93 2.0 8% % 1 6.32 2.45 3.57 3.2
MEER 2 6.00 3.71 0.64 25 9 | T 1 5.72 3.81 2.92 2.0 9|z ¢ 2mice v A K& 1 6.32 1.37 3.58 3.2
1001 5 % 2 6.00 2.90 5.48 25 |10} % & 1 5.72 3.29 1168 20
freoisarn [ 8 ot wese oar 100 | fwescimenn | 4 2 waee osr sz | [wescimesn | 1 e32 18w o1 a2
126 FRfcd © A KR 2 6.00 2.55 3.12 25 |11)2¢ 2Bfcd A R 1 5.72 3.29 2.70 2.0
1207 % 1 3.00 2.93 111 13 |12p2f fod © 2 R 1 5.72 2.61 1.30 2.0
13) &5 1 3.00 2.04 1.37 13
14| g ot & 23 1 3.00 1.26 066 13

o LF i RR RRE Y A v 3433,320+% 9 {217,487+ 4 (215,833% -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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£ i g 1 ~ 1
g A R I R E A R R * e
= R ¥ AT E/V\LL = R 7 gL ‘FT/,,\LL = R 9] S AT ’p‘/,,\}L
i (ICD-10% #f) A Hc =& o= & Fe= b % [l (ICD-10% #f) (¥ =X R Fe= L % [l (ICD-10% #f) A #c o= & =& Fe= %
15 R 7 %] 104 297.40 188.51*+ 1.38* .00.0 5 R 7 %] 67 371.11 257.00*%+ 1.39* .00.0 B R 7 37 218.73 122.94 1.36 .00.0
LA e F) 89 254.50 161.45*+ 156* 85.6 L X Bt F] 62 343.41 239.71*+ 1.54* 925 L X g 7t F] 32 189.17 107.10 1.54* 86.5
INFE R Rl 27 77.21 45.94 159* 26.0 Ll -2 58" % 17 94.16 61.20 1.46 254 L4~ 2§ E "% 10 59.12 34.72 1.87 27.0
2 |p{esFp e g 21 60.05 41.69 1.63* 20.2 2 PferFp EE 16 88.62 66.07 1.75 239 2 PHferFp EE 5 29.56 16.11 131 135
3|k 15 42.89 28.09*+ 2.30* 144 3|k 15 83.08 55.48*+ 241* 224 3|&% ~ Lo R 4 23.65 9.53 0.92 10.8
41 ~ B oo 8 22.88 13.44 0.92 7.7 4%~ BB R 4 22.16 17.45 0.93 6.0 4 | e 3 17.73 10.31 6.26* 8.1
5 15w 5 14.30 8.49 4.50* 4.8 5|6 % 2 11.08 7.98 0.70 3.0 5% 15 5 % 2 11.82 9.01 0.67 5.4
6 | 5 5 % 2 11.82 9.01 0.67 19 6 |53 5 R 2 11.08 7.49 3.19 3.0 6 |2 frd & 2 R 2 11.82 7.25 3.25 5.4
T V%% % 4 11.44 7.47 1.49 3.8 A AE:] 2 11.08 7.49 1.22 3.0 Tle A & <l B 2 11.82 6.98 2.64 5.4
) BN A g ] 3 8.58 5.67 1.69 29 8 |5 %% 2 11.08 7.48 1.36 3.0 8 |5 %% 2 11.82 6.98 1.65 5.4
915 &% 3 8.58 5.13 111 29 914 Fi% 1 5.54 5.10 1.46 15 915 % 1 5.91 4.05 0.96 2.7
FRIEINEAP T L . o
10 . 1 5.91 1.89 154 1.0 10)+ 7 H;T\(%;y;]z)% 1 5.54 3.97 0.59 15 1081 % % 1 5.91 2.16 4.17 2.7
Hig 2bL X g & F) 15 42.89 27.06 0.81 14.4 H @ 2bL X gt F] 5 27.69 17.28 0.62 7.5 How 2t X g 7 F] 5 29.56 15.84 0.78 135
& ) . FEEEIMEAP T F
1) s 3% 2 5.72 3.99 0.66 1.9 1)t 2 & = & 1 5.54 3.45 0.98 15 11 - 1 5.91 1.89 154 2.7
12224 fr 8 s v2iE B 2 5.72 3.84 1.56 1.9 12|24 234t & L K% 1 5.54 3.06 3.14 15
13| 75 (L) e 1 5.54 3.97 0.59 1.0
14 # sF v 1 2.86 2.73 1.22 1.0
15} % &% 1 2.86 127 3.12 1.0

B LR e mEY L 3434,9704 § 218,054+ -+ 416,916+ o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FH KR L ARTIIN S FLAA P IR E B R A Tt
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£ o 7 B = B
5 * & 7= so§  BEC BE 7o |7 * 7= wt§  mEC BE 7o % - 7= Ai§  BEC BE o
» 2 RO L B A » = R OF) U e oA » 2 R OH AT oA

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 92 23980 15183 109 .00.0 4 g 7 68 34061 23628 126 .00.0 “id g 5] 24 13043 7818 078 000

L4 ] 74 10288  12475%+ 128* 80.4 L g 50 29553  200.55%+ 145% 86.8 T g 23 125.00 7579 106 958
tlis tissmn | 24 6256 3737 125 261 | 1[|segespomig 16 80.14 5486 157 235 |1|i# - tiaferm 8 4348 2431 133 333
p) RS 19 4952 3042 131 207 |2|5s - tgusenn | 16 80.14 5434 122 235 |2|cpsim 3 16.30 1274 093 125
3|ey  smqears | 10 2607 1476 102 109 |3]-sm 8 40.07 3210 116 118 |3|ew . zmiears 3 16.30 932 061 125
4| en 8 2085 1662 111 87 |a|es . imiars 7 35.06 2242 143 103 | 4|segesen m i 3 16.30 798 069 125
] T 3 16.30 1274 093 33 |5|ww 3 15.03 1574 534% 44 | 5|mgien ey 1 5.43 453 140 42
6 |- 3 7.82 g19 298 33 |eliws 2 10.02 661 2213+ 29 |6|v s 1 5.43 395 678 42
7 ; ;‘}V Gl I 5.43 3.47 139 11 |7]ses 2 10.02 6.56 279 29 |7|ewssmen 1 5.43 3.95 119 42
8l 2 5.21 346 557 22 |8|mafoaemm 2 1002 628 654 29 || fF"T EAmEEL 5.43 347 139 42
9|53 2 521 308 159 22 |9olswm 2 10.02 628 063 29 |9|euws 1 5.43 343 258 42
10|/ 2 ot e 2 521 303 351 22 |iolsmm 1 5.01 436 134 15 |10z e ann] 1 5.43 212 411 42

Aezocgern | 18 4692 27.08* 067 196 AL g T 9 4508 26.73* 067 132 M2 s ) 1 5.43 239%  0.11* 42
1] s 2 521 303 059 22 |11|s s 1 5.01 365 052 15
bl ERTYE =230 1 5.01 365 052 11 |12|ses 1 5.01 291 061 15
13| 5 =1 1 2.61 239 112 11 |u3ls m 1 5.01 2901 054 15
14]s2 g fot 2 1 2.61 228 068 11 [14]s i 1 5.01 267 121 15
18] 7 iy 1 2.61 184 480 11

Mot Ly RN ERE Y Lo g 3438,3654 ¥ 119,964+ 4+ 418,4004 -
2. &% i+ 5= & ( Standardized rate) % 220002 W.H.O, & f % v #8084 5 A% o Tk ) 201057 = FRF R BHRE L = 500 T ) 2R 52 FRF G 0§ 1 SR 5= 5 (070.05)
3. #&2 it 5+ =+ ( Standard mortality ratio, SMR) o v 5= w=F 5= $ic / HF 7= o KL FHF R 53 EF 7 R (0=0.05) -
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o F— 7e F4§  pEr wE 7o W o wo Ei§ REC BE 5o W o 7e ES§ pEr RE 5o
» 2 RO L B A » = R OF) U e oA » 2 R OH AT oA
i (ICD-10%~ #f) A 5= = g % | (ICD-10%~ #f) A 7= e ¥ Fe Lk % | (ICD-10% #f) A i v v Fv = b %
54 e 7 110 25122 16219 115 000 4 g 7 66 29318 19662 107 .00.0 4 g 5] 44 20683 13105 128 .00.0
L4 ) 83 18956 12247 115 755 L4 g A 58  257.64 17126 116  87.9 L ) 36 16922  110.17*+ 142 818
1lis-tisfmn | 28 6395 3068 129 255 |1lis - tgsdewm | 22 9773 6280 147 333 |1|rpsim 9 4231 3179 243* 205
2|5 s 9 4231 3179 243 82 |2|wqespmig 6 2665 1900 051 91 |25 - tiwsnn 6 2820 1840 088 136
3|es - egqourn | 10 2284 148 091 91 |3|-ws 6 2665 1879 076 91 |3|ew . zmiurs 4 1880 1150 073 91
4 |seqermp g 5 10 2284 1421% 061 91 |a|ew - imqenrs 6 2665 1814 109 91 | 4[wgespmia 4 1880 982 08 91
5| g 6 1370 969 073 55 |5|leum 5 2221 1612 138 76 |5|teicamen 3 1410 907 320 68
6|z e 6 1370 865 260 55 |6|wws 4 1T 988 210 61 |6|um 3 1410 907  600* 68
AEET 5 1142 835 130 45 |7|reizamen 3 1333 927 234 45 |7|ewm 2 9.40 794 246 45
8 | aem 5 1142 591 146 45 |8|iesnops 2 8.88 736 1026* 30 |8|vws 2 9.40 519 456 45
9| 55 2 9.40 794 246 18 |o|mgqeneagn 2 8.88 514 238 30 9;;ﬁ‘%&*”ﬁ; 2 9.40 316 248 45

FEFEIMEAP T F = B 2 95 e
107 & 2 9.40 316 248 18 |10|% s 2 8.88 476 094 30 |[10]s s 1 4.70 422 100 23
et igpren | 27 6166 3972 115 245 B A g 8 3554 2536 069 121 B L g ) 8 3760 2089 088 182
11| 4 9.14 614 354 36 [11)s iy 1 4.44 398 106 15 |11|rsa 1 4.70 336 333 23
12 #is s O 2 8.88 476 094 18 |12|en 1 4.44 202 159 15 |12|5 s 1 4.70 320 604 23
k| B 2 457 410 102 18 |3lzsamreneann| 1 4.44 202 244 15 |3lassmpneaiw| 1 4.70 295 375 23
14| 5 o 2 457 325 858 18 |wa|lgm-enqempan| 1 4.44 289 1364 15 |14|wsem 1 4.70 218 065 23
15|z s 2 inl 2 457 306 299 18 15|55 1 4.70 184 166 23

oLt L) EMLEEARE Y A ¢ g $543,7864  F 1222,512% & 4221,2744 -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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o — 7= A-§  REC BE 50 |% W w 7= AS§  WEC RE 50 % — < 5§ WEC RE -
» = R 7 Ao B A S FAr Bt = R % AR oA

i (ICD-10%~ #f) A 5= = g % | (ICD-10%4 #7) [ 7= e ¥ Fe Lk % | (ICD-10% #f) A i v v Fv = b %

54 e 7 43 27020 12361 087 .00.0 4 g 7 31 37126 18461 096 .00.0 4 g 7 12 15865 6593 068 .00.0
kern | s w078 101 o8 767 | |emerm | 2% 3113 16186 100 89 | |-emera | o 1898 5433 100 750
1|es 2 pqonm g 8 5027 1962 132 186 |1|i# 25 adern 6 7186 3027 073 194 |1]|ew . zmieurs 4 5288 2246 135 333
2|5 st 5 atern 8 5027 1935 069 186 |2 |swqosp oz 5 5988 3667 085 161 |25 4§ #derm 2 2644 1035 057 167
3 [sforen o2 5 3142 1886 059 116 |3|e% . smiura 4 4790 1921 130 129 |3 ;;*"" HEATEIL g 1322 1003 256 83
A ERE e =TT 2 2395 1300 151 47 |4|awm 3 3593 1980 178 97 |4|tpsim 1 1322 839 067 83
5lai s 3 1885 1041 170 70 |5|cws 2 2395 1866 056 65 |5|i# 1 1322 310 145 83
6 ;’ﬁ Sl I 13.22 10.03 256 23 |6|sapcEEi R 2 23.95 13.00 151 65
4 BT 1 1322 839 o067 23 |7|pem 1 1198 864 270 32
8| g 2 1257 1002 055 47 |8lresz<mem 1 1198 653 149 32
ol % 2 1257 324 109 47 |o|wwm 1 1198 568 099 32
10| 14 1 6.28 507 223 23 |10|esm 1 1198 340 456 32
leiaswerm | 10 e2s4 2189 082 233 | |tescomesm | 5 soss 2275 08l 161 | |eac-mesm | 3 3966 160t 035 250
]| ERA R 1 6.28 334 086 23 |u|is 1 1198 340 085 32
12|50 1 6.28 277 055 23
13w 1 6.28 162 228 23

oLl RAZ kSREP Lo 31159144 9 428,3504 L 4E7,5644 -
2. 452 v 5+ = 5 ( Standardized rate) % 1 2000F W.H.O. & % A v Zd 4 2 A o Tk | L R0 5= FEFX
3. 482 it 5 = 1t ( Standard mortalityratio, SMR) o fhiitsv= l=Fmn = e / W= B XA R B R
4. FTH KR LA FLE A P AR B R 4 v oSt

TR S F 5 TR AR RIS R R ¢ (0=0.05)
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£ o 7 B ~ B
5 * & 7= so§  BEC BE 7o |7 * 7= wt§  mEC BE 7o % - 7= Ai§  BEC BE o
;= R O7 L RN ;= R OF gHAD B » = R 7 LA P

i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 72 25798  139.37 106 .00.0 4 g 7 45 31056 19279 102  .00.0 st Ao ] 27 20121 8460 110 .00.0

N 50 21140 11586 112 819 L g 38 26225 16874 106 844 T g 24 17885 7451 131 889
i tissemn | 13 46.58 2707 083 181 |1l|i# - tisfrm 9 62.11 4027 083 200 |1)uw.zmieers 6 44.71 13.87 146 222
2| iggouerg | 1 39.41 16.49 135 153 |2|-es 7 4831 3844 132 156 | 2|wgesen mua 5 37.26 1220 139 185
3 [seqormp 5 4 8 28.66 11.93* 069 111 |3]|es i gourg 5 3451 1887 123 111 |3|5# .t 5w m 4 29.81 1168 083 148
4lcsen 7 25.08 20.15 120 97 |alsun 3 20.70 1700 122 67 |a|im 3 22.36 1089 310 111
5 | A1 G OB 3 20.70 9.69 179 42 |s5|wss 3 20.70 1212 221 67 |5|iap 2 14.90 1091 294 74

FPFEMEAM A

6 | 4 14.33 7.45 162 56 |6]s=n 3 20.70 1105 404 67 [6f % 1 7.45 5.35 178 37
7|5 % 4 14.33 7.13 160 56 |7[wqesepaya 3 20.70 1071% 037 67 |7|cprim 1 7.45 535 044 37
8|4 3 10.75 9.02 116 42 |8 spcmmsn 3 20.70 969 179 67 |8|ziamneaim| 1 7.45 213 459 37
] E 3 10.75 808 219 42 |9sim 1 6.90 508 146 22 | 9|wus 1 7.45 213 089 37
10|55 3 10.75 490 278 42 |wolsmm 1 6.90 453 176 22

Aunsagarm | 13 46.58 2351 083 181 B A 7 4831 2405 085 156 B % T 3 22.36 1009 049 111
11 ;;f" Sl I 7.45 535 178 14 |12 o 1 6.90 3.34 1905 22
12| 5 g5 5 1 7.45 535 044 14 |12)es 1 6.90 300 368 22
Bl rmereiin] 2 717 249 390 28 [w3|zsamrereainn| 1 6.90 300 334 22
14| 5 = 1 358 2.50 149 14 |14t % 1 6.90 300 065 22
15| 1 3.58 124 371 14

S oGLc L) RAw EgRE S v 527,909+ 9§ 1214,490 4 - 213,419 4 -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %

w4 o 9] 80 25696 14500 102 .00.0 4 g 7 52 32091 19384 104 .00.0 4 g 5] 28 187.57 9749 097 000
sern | 72 2tz wsin 122 0 | |cimesm | 0 3023 18421 134 042 | |-emerm | 28  1s1s7  eras 137 000
s t5sdwn | 23 738 4017 127 288 |1|egeerzia 13 8023 4685 140 250 |1liw-tissers | 11 7369 3997 195 393
2 [sgeren 2 19 6103 3200 141 238 |2|i# - igeerm | 12 7406 4279 097 231 | 2[ween i m 6 4019 1868 141 214
3|e g 10 3212 2140 163 125 |3]c s 10 6L71 4061 168 192 |3|e% ¢ mioums 4 2680 1306 083 143
a|wmscn 5 1606 949 175 63 |aleum 4 2469 1547 143 77 |4|wws 2 1340 660 151 7.1
5|t pqeumg 5  16.06 773% 053 63 |5|ews 3 1851 1217 195 58 |5|wiwm 1 6.70 722 164 36
6|awn 4 1285 805 135 50 |6|rweszmen 3 1851 976 287 58 |6|rprss 1 6.70 550 038 36
7|t & e 3 9.64 395 162 38 |7]|wus 1 6.17 469 202 19 7;;ﬁ‘%&*”ﬁ; 1 6.70 348 149 36
) 1 6.70 722 164 13 |8|pem 1 6.17 426 156 19 |8|mafpmsm 1 6.70 148 406 36
9l«pssa 1 6.70 550 038 13 |9|smm 1 6.17 383 146 19 |o|zsampereain| 1 6.70 148 383 36
10;;§;%t%m#; 1 6.70 348 149 13 |10)% RO R 1 6.17 383 053 19
o hern | 8 2570 1389 0dor 100 | |fescomesm | 3 1851 este 023 58 | |fesc<mesm | 0 000 o000 000 00
e 2mene il 2 6.42 197 336 25 |u|esampeneann| 1 6.17 296 295 19
12| s o) 1 6.17 383 053 13 |12|es i mienrs 1 6.17 266% 022 19
13|u 1 3.21 245 115 13
14] 4 i 1 3.21 240 130 13
15|35 5 1 3.21 198 081 13

soosrc L EamE Y A v g 3131,1334 9 1416,2044 & 4£14,9284 o
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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g &R = 45 R w1 S R = Ly R L =R R = 249 HREC s B
= R ¥ AT ﬁ/v\tb = R O¥ gL ‘FT/,,\LL » = R 7 LA FRARE
i (ICD-10~ ) Afc - X i Eaai % i (ICD-10%~ #f) A fic 7= = K e % i (ICD-10~ #f) A g = ¥ 5= i %
1 R F 99 283.47 139.12 0.96 .00.0 HEF R 7 F 60 324.22 172.39 0.90 .00.0 Eh R 7 F 39 237.54 106.83 1.04 .00.0
osern e zes w1 e | |imern | 59 28630 15184 099 883 | |-<mesm | a4 709 o2 120 &2
1 Pprfessp 24 26 74.45 36.07 1.47 26.3 1 Pprfessph o4 15 81.05 43.37 1.23 25.0 1 Pprfessp 24 11 67.00 26.08 191 282
205 8~ A5 E R 16 45.81 21.36 0.66 16.2 205 # ~ A5 B R 12 64.84 33.03 0.71 20.0 2|5 5 7 42.64 32.98 231 17.9
Kl XL 7 42.64 32.98 231 7.1 3|5~ 2R 9 48.63 23.60 1.40 15.0 IR SRR Rl 4 24.36 10.84 0.54 10.3
4155 ~ B foi B 12 34.36 13.59 0.93 121 4] vem 7 37.83 22.80 0.92 117 413 &% 4 24.36 8.92 2.63 10.3
5| & 8 22.91 13.13 1.05 8.1 5| 3 16.21 9.83 0.84 5.0 5|3 - 25rm 3 18.27 3.90*-  0.47 7.7
613 &% 6 17.18 7.86 1.54 6.1 613 &% 2 10.81 6.25 0.84 3.3 6|+ 7 W 1 6.09 5.84 2.52 2.6
I8 ERENC: =9k 2 10.81 3.98 0.73 2.0 [l ERENC: =29k 2 10.81 3.98 0.73 3.3 I EA R A A 1 6.09 3.80 0.95 2.6
I EER 3 8.59 5.77 0.81 3.0 8 | 4 F1i 1 5.40 3.79 1.25 17 8 | A foir o 1 6.09 1.79 3.29 2.6
9|+ 7 ws 1 6.09 5.84 2.52 1.0 9 | & fohd & 41 ¥ & 1 5.40 2.60 15.28 17 9 |7 1 6.09 1.79 2.38 2.6
10] # F & 1 2.86 1.85 1.06 10 J10]¢ i 1 5.40 2.60 0.92 1.7 |10) - »x% 1 6.09 1.79 2.18 2.6
freoisarn [ 17 wes ameee 0ss w2 | |wescimesm | 7 wes wss 0s3 17 | [wesccmesn | 5 45 oue o 128
11f2bim 2 & <o = % 1 2.86 1.80 0.41 1.0 1159 1 5.40 2.06 12.83 L7 J11ped ot & "5 % 1 6.09 1.79 1.06 2.6
120 % fobf & 40 & B 1 2.86 1.30 15.71 1.0 | 12)&m 1 5.40 191 2.39 L7 | 12p&%H% 1 6.09 1.06*- 057 2.6
13)5 i 1 2.86 1.30 0.47 1.0
14)5 5% 1 2.86 0.96 7.98 1.0
15| & o o 5oty 1 2.86 0.96 1.59 1.0

WoGLc Ly, B smE S v 3234,0244 9 1218,506% {216,418 -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
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i+ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = % Fv =L % [ (ICD-10% #f) A = & Fe= % =k %

54 e 7 66 36830 15480 115 .00.0 4 g 7 47 48400 24943 127 000 “id g 5] 19 23140 57.45% 092  .00.0

L 58 32366 13479 129 879 L 41 42229 22083 136 872 S ] 18 21922 5492 125 947
1| perep o 15 871 3788 152 227 | 1|weren mig 13 133.90 7072 191 277 |1)ew . igeenrn 6 7307 1513 170 316
2|is - tgagnn | 12 66.96 3144 089 182 |2|i# - tqugemn 8 82.40 4723 085 170 |2|i# -t #tenm 4 4872 1294 098 211
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] E 2 11.16 343 166 30 |9|ma b 1 10.30 651 52 21 |9liwm 1 12.18 202 120 53
10[im 2 & <= 5 2 11.16 205 152 30 |10 ;”ﬁ VARG 10.30 448 5119 21

At 8 4464 2001 065 121 AL g T 6 61.80 2860 087 1238 M2 s ) 1 12.18 253*  0.16* 53
11| 4 gep o 1 558 429 296 15 |11]s i 1 10.30 448 160 21
1 ;”’? Ve Gy 5.58 139 2202 15 |12lse sz ame 1 10.30 354 133 21
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